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General Instructions :

(i) All questions are compulsory.

(i1)  Questions number 1 to 10 are of one mark each. The answers to
these questions should not exceed 20 words each.

(iit)  Questions number 11 to 20 are of two marks each. The answers to
these questions should not exceed 40 words each.

(iv) Questions number 21 to 30 are of four marks each. The answers to
these questions should not exceed 100 words each.

(v) Questions number 31 to 35 are of six marks each. The answers to
these questions should not exceed 150 words each.

(vi)  Question number 35 is based on Map. Write the answer in your
Answer-Book.
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100 =) @ 3ifyw 6 g SRk |
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(vi)  F¥7 G 35 AT R SEIRG & | IW T FR-YRAH 7 ARG |

1. Mention the full form of ‘SEATO’. 1
€Y (SEATO) & fa&gd ®7 &1 3@ Hifg |

2. What is meant by ‘Shock Therapy’ in the context of post-Communist

regimes ? 1
IR-TEEE I F gl § e N @ e fafew
3. | What do WTO and ILO stand for ? é+—é—=1

T el (WTO) oo s uersl. (ILO) & faga &9 fafew )

4. What is the major difference between the traditional and
non-traditional notion of Security ? : 1

G F TR G WA gRen § e SRR § 2
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5.

10.

11.

12.

13.

14.

15.
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How could India remain united inspite of its continental size and
diversities ?

I TR SR 3R fafaudet F aeNE, 9GOl UEdl W ST W urE
272

How could Congress remain in dominance till 1967 despite the
existence of multiparty system in India ?

WRG # 9gSd UTR B BT W 1967 T, HUW ® quE W I W@ ?

Differentiate between regionalism and separatism.
g T8 JUEaER H SRR fafey |

What is implied by Dalit Panthers ?

ofed Yo § @ s R 2

What is meant by plebiscite ?
SAHA-gTE 1 e ord @ 2

Which political party resolved to build a ‘Golden Assam’ ?
fohe ToFifas T 3w Wim saw % fauier @ Hehew foam ar 7

“The fall of Berlin Wall is seen as the fall of bi-polar world.” Do you
agree ? Give any one argument in support of your answer.

“gie AR F Ted B fE-gET v & o o Wl WA SIr @ 17 S 6l
TEHd & 7 o0 SW & 9 § I wH 9% G |
Why is the attack on World Trade Center and Pentagon known as

9/11 ?
T 9% Wt R YoM W g T W /11 F A9 ¥ & I S @ 2

“The United Nations was not created to take humanity to heaven, but
to save it from hell.” What is implied by this statement ?

“HY% TP-9Y @ A AHEW @ @ 9 & faT T, aﬁ%ﬁ?@m@a—dﬁ
& foaq gon o1 17 39 wed ¥ a ofwE @ 2

Mention any two components of India’s security strategy. 1+1=2

Wﬁg{%wlﬂﬁt%i&néfaaﬁwmﬁml

What is meant by ‘common but differentiated responsibilities’ ?

e, T SEMT-37erT FrReREl ¥ 3 aed § 7




16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

Why did India not join any of the two camps during the Cold War ? 2
e g5 & A 9 A H ¥ B off o # wfte W& 9@ gen ?

List any two major achievements of the First Five Year Plan. 1+1=2

Toq eadE AN @ R @ YiE svelerEl @ gEes RN |

What role did Sardar Patel play towards the merger of the Princely

~ States in the Indian Union ? 2

S Wl # wRdE "9 # ofmfem w0 R e #, SRR w®d 3 # fiew
fg 2 '

How far is it correct to call India a World power ? 2

IR F T fovd WE e Fel o Sf @ 2

“The declaration of Emergency in 1975 was a slur on democracy in
India.” How far do you agree with this statement ? Explain. 2
“1975 ¥ SMUH HI SIYUT FH AT AFaT | G Fgl T AT 7 T BT |

Y T Feud § 2 SN T |

What was the Cuban missile crisis ? Explain. 4

T F fAEEE wehe w41 7 e T |

Describe any four factors which contributed to the rise of the Chinese

“economy. 4dx1=4

%ﬁ?ﬁaﬁaﬁwﬁsﬁﬁﬁq\wqwéﬁaﬁw‘wm?ﬂaﬂhﬁm|

What is implied by ‘hegemony as soft power’ ? 4
qHE F GEaE 9w oaed § 2
Explain any two new sources of threats to security. 24194

g & wof F wald & B QAU A @ e i |

How far is it correct to say that globalisation has shifted power from
the nation-states to global consumers ? 4

g FEAl FE a% Sfad ? (6 ATl & RO WOl (P-USAl & M W afyasw
Iudrerelt % @1g F om W 7 2
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26.

27.

28.

29. .

30.

31.

“Let the polluteré pay.” Support this statement with any two suitable
arguments. ‘ 2+2=4 .

“ﬁWﬁgﬁaﬁ,aﬁmWﬁﬁl”WﬁWaﬁmw‘
FIT F AT FIGT |

Mention any four major problems faced by India due to Partition in
1947. 4dx1=4

1947ﬁ%%ﬁw%ww%wa@%wwﬁmeﬁ@
FT |

Explain India’s changing relationship with U.S.A. 4

HYF T U % Y ARG & Seed WEl # SR HiNT |

What are popular movements ? Describe any two popular movements
related to women empowerment. 242=4

mmﬁawmé?mm@mmaﬁm
H U FHIGT |

Describe any two major issues which led to the formal split of the
Congress party in 1969. - 242=4

1969ﬁmm%mw%mmﬁwawlﬁwaﬁq
FifST |

How can the Kashmir problem be resolved ? Suggest any three ways to
solve it. , 3Ix2=6

OR

What are the secessionist movements in North-East India ? Suggest

 any three possible solutions to curb these movements. 3+3=6

Wmﬁmwwwmé7wﬂﬂw%wm%§ﬁé?ﬁq

B EICHE T

AT

WW%WWW%?W%@%W%WM
T AT |
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32. “The end of the Second World War was also the beginning of the Cold
War.” In the context of this statement explain any three arenas of the
Cold War. ' 3Ix2=6

OR

Political Map of the Commonwealth of Independent States, 1997

el N

f\m« Black Sea
‘ Ankarar
TURKEY

~~~~~~~~

kMedxtg;anean ?‘“‘SYR‘IA | S N
" Damastns AIRAQ

Study the given ‘Political Map of the Commonwealth of Independent
States, 1997 in which six countries have been marked as A, B, C, D, E
and F. Identify them on the basis of information provided below and
write their names in your Answer-Book against A, B, C, D, E and F. 6x1=6

(A)  The successor country of the erstwhile USSR.

(B) The first Soviet Republic to declare its independence.

(C) A member country of Commonwealth of Independent States (CIS)
(D) The State which witnessed Civil War for ten years till 2001.

(E) A major oil and gas producing country of the erstwhile Soviet
Union. '

(F)  One of the three Soviet Republics to establish CIS.
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T H S RN
sygar

WA USE) & UPFHA & WSt wmred, 1997

I5 & wfa ¥ & v g2 3 EeTT g 7 39 99 & Hed # ¥ia
ic)

TR R T @ T F TPET & TSiaE TEeE, 19977 @ e &g
forail ®r W W A, B, C, D, E 91 F 510 3ifee fFar wan € 1 A & W g
F EN W, 3¢ UEU 9 3% AW A, B, C, D, E 9 F & WHA 310
Iu-greqer H fofey |

(A)
B)
©
D)
(E)
(F)

59/2/1
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TR R ST A A $ e S s |
T Tl % TP (CIS) 1 T ¥eed < |
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Note : The following question is for the Blind Candidates only, in lieu of

Q. No. 32.
Az : ﬁmﬁ@ﬁw%aaqﬁﬁ?wﬂaﬁﬁ%z%wmw@mz%ww?/
Answer the following questions : 3Ix2=6

(a) Mention any two salient characteristics of the erstwhile Soviet
system. ,

(b) List any two reasons for the disintegration of the Soviet Union.
(e) State any two consequences of Shock Therapy.

fr=fefed wwal & s AT @

(@) ydadi difead e & B ger fmvaesl w1 e Sy |

(@) Wfead 99 & fowed & Rl @ aRo @ gHag g |

M e RE F FH @ ofors @ fafew |

33. Describe the role of European Union as a supranational organisation. 6
‘ OR o
Explain the common problems of South Asian countries. 6
& ARREE @8 % w9 § QU €Y # e & v St |
HIAT

ThaoT TTSTE SNl W WU WHRNsl & =mRen #ife |
34. Analyse the three kinds of challenges faced by Independent India. 3x2=6
- OR B
Assess the major outcomes of the planned development in India. 6
W ARG & g IR R I Yer @ gHifadt @ favdwe i |
| e
aRa ¥ il foem & g ofomel w1 eree Sifve |
~ 85. Evaluate any three factors which led to the popularity of Indira

Gandhi’s government in the early 1970s. 3Ix2=6
‘ " OR v

Examine any three reasons which led to the mid-term elections in

India in 1980. ‘ 3x2=6

1970%W%Waﬁﬁ3ﬁ§ﬂm%ﬁﬁﬂ{%liaﬁﬂl%lqul%WFﬁ?W
& i WIS |
HYAT

1980 # wRa # gC #eAWY Al o fRRl d ERON @ GOFU ST |
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